Ani ons (mg/ L) ( mM) HCat ) ond meqf mg/ L) ( mM)
Cl 8.1 35 0.231428571 |c4 0. 263.17428580 1 0.1675 2
SG- 6. 3 96 0.065625 aN A 0. 23425 23 0.104347826
F 0.4 19 0.021052632 |afl* 0. 0®.1052832 0.003703704
NQ 0.8 6 2 0.012903226 |K1 0. 0128032329 0.002051282
HCO 16. 3 61 0.267213115 |Fat 0. 60r2135%565 0.001071429
OH 17 0.001 1 H" 0} 001 1 0.00001 1
0.664B8475%44
TDS (mg/ L) =Sum 41C.a24 mgskt Ani ons)
TDS (mg/ L)=43.7 metd
0.665-0.455=0.21 meg/L ( )
Md* should be the mO.21/(0.665+O.455)*1OO= 18.75%>10% ->

M gz+
0.21 meg/L * (1/2)(mmol/meq)* 24 (mg/mmol)=2.55mg/L....... Mg**
TDS (mg/L)=43.7 mg/L
TDS (mg/L)=41.2 mg/L
Mg* TDS (mg/L)=41.2 + 2.55= 43.75mg/L
M gz+
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